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General instructions as under:-

i) Candidates should not write his Name/Roll No. anywhere in the Answer
sheet.

ii) | Use of unfair means will lead to cancellation of candidature.

iii) | Any extra question attempt will not be evaluated.

iv) | Cutting, overwriting, erasing or alternation of any type in the answer will
not be accepted. Zero marks will be given for answer having
correction/overwriting.

v). | There is no negative marking for incorrect answer.

vi) | The question paper consists of 110 multiple choice questions out of which
candidate has to attempt any 100 questions. Rajbhasha Question no. is from
Q.No. 101 to 110 which is optional.

vii) | All questions carry equal marks.

viii) | During the examination Mobiles should be in switched off mode &
calculators are not allowed.
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1. Rail with rolling mark 60 880 SAIL 0 XI / 2024 indicates grade rail.

a) 60 b) 880 Q)0 d) 2024

RATCHT AT 60 880 SAIL 0 XI / 2002 TSl XA PEEGEKARUGERGIR
a) 60 b) 880 Q)0 d) 2024

2. IMR defective raiIs shall be replaced within days.

a) 1 c) 15 d) 30
&né’@&n?aﬁﬂqpﬁﬂﬁ fal o sqa faar smem|

a) 1 b) 3 ) 15 d) 30

3. DFWR welds secured with joggled fish plates and clamps shall be replaced
within ___ days.

a) 3 days b) 15 days ¢) 3 months d) 6 months
Wﬁ?ﬂ@?sﬁ?aﬁﬂ@rﬁﬁrﬁswsw&mqmﬁ feqf & iR sqa

fear S|
a) 3 faAt b) 15 fa&=1 ) 3 HeH d) 6 A

4. Maximum degree of BG curve is :
a) 15 c)5 d) 8

offoit ash B G{fﬂmﬂ%‘,ﬂ @

a) 15 b) 10 c)5 d) 8

5. Virtual transition length on BG is m

a) 14.6 b) 13.7 c) 20 d) 11.2
BG TR 3TUT AhHU Aalg g

a) 14.6 b) 13.7 c) 20 d) 11.2

6. The census of traffic at all level crossings is taken once in ___ years.
a) 1 b) 3 c)5 d) 7



gt A SHIRAT R 1A/ i TUMT I & U IR &I SIdt g

a) 1 b) 3 c)5 d) 7

7. Speed indicator will be erected at a height of m from rail level
a) 1.65m b) 2.5 m 2m d)3m
Wﬁrﬂmdmiﬂmeﬁ _ Wi @1 SArR R R fosar e

a) 1.65 |l b) 257 )2 HI d) 3 HI

8. Sleeper density of 1660 nos./km has a sleeper spacing of cm.
a) 55 b) 60 ) 65 d) 70
ifﬁqqzﬁTEFmEr1660:PndaﬂﬁT%wiﬁzz%ﬁqzéﬁaﬂaiﬁ1§§1 It g
a) 55 b) 60 ) 65 d) 70

9. Radius of a 5° curve is-

a) 1750 b) 875 c) 350 d) 550
5° b BT AT B-
a) 1750 b) 875 ¢) 350 d) 550

10. Full form of DMTR
a) Detonator Material Transaction Register b) Dead Material Transaction Register

c) Daily Material Transaction Register d) None of these.

ITH. & 3R &1 /T Adad o1 62

a) Sl FrHUl fadRur IoRex b) S A faRUT SRR
o) i Il aFe YfoReR d) 370 I B a1

11. Chord length for measuring lead curvature of a turn-out is

a)3m b) 4m c) 6m d) 9m

TH-3HT3C & TS Iehdll DI AU & foIU Bls B el §

a) 3l b) 4 c) 6 HI d) 9 Hl

12. Formation cross slope shall be 1 in .........

a)10 b) 20 c) 30 d) 40
TS b1 G 1........ BRI

a)10 b) 20 c) 30 d) 40




13. Degree of a curve of radius 1750 m ?

a) 1.25° b) 1° Q) 2° d) 0.5°
1750 Tiex a1 & ap @1 et 27
a) 1.25° b) 1° Q) 2° d) 0.5°

14. Degree of a curve of radius 875m ?

a) 1.25° b) 1° c) 2° d) 0.5°
875 Hicx BT & 9 i feilt g2
a) 1.25° b) 1° c) 2° d) 0.5°

15. Dynamic gauge for BG

a)1750 mm b) 1776 mm €)1676 mm d) 1057 mm
ol o o SRfHe e

a)1750 Tt b) 1776 Tl ¢)1676 foEt d) 1057 fot

16. USFD test is done for

a) Rail b) Weld ¢) both (a) & (b) d) None of the above
WWWWWWW g
a)Xd b) SI1$ ¢) &Ml (@) & (b)  d) THH A BIS e
17. What is the height of 60 kg rail section?
a) 180 mm b) 172 mm c) 185 mm d) 165 mm
60 forelum Yd WS o TS fha! 82

a) 180 Tt b) 172 o c) 185 T d) 165 o

18. What is the full form UTS of rails
a) Ultimate technical Strength b) Ultimate tensile Strength

c) Upper Top surface d) None of above
UTS &1 Quf =1 3
a)3fccIHe Cfdepd WY b) 3reiie 2R Wy

¢) 3R 219 Wby d) SRIFd T A P13 =)



19. Tilting of rail head is done at a slope of

a)1in 30 b) 1in 25

X §S BT FHhId ¢ W fbam ol &

a)1 #H30 b) 1H 25

20. Transition curve is situated at

a) Both ends b) At Centre

21. TVU is abbreviated for
a) Track vulnerable unit

¢) Total vehicle unit

<ty & fo e §
a)c®H HHOIR SHTS

¢) $ AT 3Pl

22. Formation width on curve

a) Increases b) decreases

c)1in20 d) 1in 15
) 1520 d) 1815
————————————— of curve.
c) Anywhere d) After tangent point
------- R YT g
c) dal Hi d) WRRE fdg & d1g

b) Train vehicle Unit
d) None of the above

b) ¢ dTE DTS
d) SWIad # Y BIs 78!

d) none of these

d) $TH q BIg 6T

¢) remain the same

¢) JH gt §

23. In through packing, ballast should be opened out on either side of rail seat to

AT IR HHRE St AIST5?
a)Sed g b) gedl &
a depth of

a) 15 mm b) 25 mm

c) 35 mm d) 50 mm

T & A1 T, FIgt &1 Xa Wie & g1 SR &) TTERT1S o aid o= d1fga|

a) 15 T b) 25 fo

24. Full form of TFR
a) Through Fitting renewal
c) Timely Fitting renewal

c) 35 fa d) 50 fot

b) Total Fitting renewal
d) none of the above



B3R BT T =Y T 87
a) o fopfeTT Regsra b) Ted fopfeT Rgsra
o) I U fibfer Rgara d) 399 Y PIs el

25. During protection detonators are placed at what distance apart.

a)5m b) 15 m c) 10 m d) 8 m

JR&M P SRM P! B fba-T g TR T STl &

a) 5HI b) 15 4 c) 10 4t d) 8 df

26. Maximum length of LWR can be

a) 250 m b) 65 m b) 39 m d) One Block Section
Td S&YSIR B BT THaTs o7 81 bl ©

a) 250 4 b) 65 H b) 39 | d) Uh scilh Y-

27. Wagon used for carriage of ballast is

a) BOXN b) BTPN c) BCNL d) BOBY
ST YaTe & o ST o ST | 1T STl @

a)dIUEET  b) SICUITA ¢ dNlEATd d) Stsfidiars

28. What is the life of welding portion?

a) 2 years b) No specific life ¢) 6 months d) 1 year
AfeET URTA &1 Sita- 1 8
a) 2aY b) B Siigd RuiRa T8f g o) 6 AgA d) 1 ay

29. Minimum clean ballast cushion required for machine tamping is
a) 150 mm b) 200 mm c) 250 mm d) 300 mm
Tefiq ¢ & o saxas a9 I gt SRt §

a) 150 folt  b) 200 fAet c) 250 feret d) 300 fet

30. What is the full form of GMT?



a) Gross minimum thickness b) Gross Million Tones

¢) Gross Maximum thickness d) none of above
SheAet &1 guf SRR 2

a) 9 d AdH HIcTs b) T d fAferH e
¢) T d SfewHaq Alerg d) 379 ¥ @Ig ot 781

31. CRS comes under the ministry of

a) Ministry of railway b) ministry of home affairs
¢) Ministry of civil aviation d) Ministry of defense
ISR U b HaTerd & il 31Tl 8

a) X G b) T8 HATT

¢) ANTR® IgI- HATT d) &1 HATd

32. TGI cannot assume the following value —
a) Less than 100 b) Less than 50 c¢) Less than 0 d) Less than 25
TG fRgfeiad aH 78 goar g -

a)1009HHA  b)50 T HH Q) 0 HH d) 25 ¥ HH

33. Lateral wear permissible of 60 kg tongue rail is.
a) 5 mm b) 8 mm c¢) 10 mm d) 12 mm

60 for U 71 3d B U128 W foha1 oy ST &t SrqHfad
a) 5 fore b) 8 fordt ¢) 10 foedt d) 12 i

34. Toe load of ERC Mark IlI....

a) 650 to 800 kg b) 400 to 600 kg

¢) 200 to 300 kg d) 850 to 1100 kg
SR A1 1] BT 2l dlS....

a) 650 ¥ 800 foraomH b) 400 ¥ 600 farumH
¢) 200 ¥ 300 frarumH d) 850 ¥ 1100 fharmA

35. Deep screening of entire track must be done at least:-
a) Once in a quarter b) Once in a year



¢) Once in 5 years d) Once in 10 years.
R ¢H DI TpIT HH Y HH g1 IMT; -
a) TG IRTG YR H b) a9 H Th aR

¢) 5 dId e (o diR d) 10 HId | Qop gk

36. In PQRS working, Auxiliary track should be laid at a gauge of
a) 3400 mm b) 1676 mm ¢) 5400 mm d) 4400 mm
PQRS T T - IR, TEIH <P & T 151 TR W[ ST 91T

a) 3400 foHt  b) 1676 TWHET ) 5400 T d) 4400 TR

37. The minimum radius of the vertical curve on "A" route shall be kept as
a) 4000 m b) 3000 m c) 1750m d) 2500 m

U ¥ C R qeipd/SH @R garel ¥ gAqw foba-t Bsar wa-! a1fge

a) 4000 H b) 3000 H c) 1750 #t d) 2500 |

38. Whistle Indicators should be provided at a distance of ........ m.
a) 500 m b) 400 m c) 600 m d) 300 m
It Gopd b ol ......... D g1 R UGH foan S izl

a) 500 H b) 400 |t c) 600 HI d) 300 |

39. Speed Indicators should be provided at a distance of ........ m.
a) 50 m b) 40 m c) 60 m d) 30 m
e Gbdd ol ........... &1 G R UGH fodn o1 gl

a)50 Hi b)40 Ht c)60 d) 30 Hi

40. When more than one person holding competency certificate travels in a
trolley, the ..o is responsible for its safe working.

a) The Head Trolley man b) Trolley Holder

c) The man who is manning the brakes d) Higher official accompanying trolley

e e ¥ 3t fad S aigar YHIT UF IWd ®§, <lal # IET #Rd §, dl
.................................... P P& B & oy SeR g



a) 88 glall # b) lcil BlesY
¢) S T dTel Al Dl d) 3= AHABRI el &b 1Y

41. Push Trolleys shall be manned by at least ......men.

a)2 b) 3 c) 4 d) 5

U CIferdl 1 hH 4 HH ... TN gRT Il S|

a)2 b) 3 c4 d)5

42. In cuttings in straight track trolley refuges should be provided at ...m intervals.
a) 50 m b) 100 m c) 150 m d) 200 m

T ¢ U HicT I Tiell Nogt &1 fordt SfaRTal IR U fohar i1 e u|

a)50 i b)100 Ht c)150 Ht d) 200

43. In high banks trolley refuges should be provided at ...m intervals.

a) 50 m b) 100 m c) 150 m d) 200 m
XT <P U I dP! 1 lall RSl Bl fovd a1l IR Y& fhar S e u|
a) 50 Ht b) 100 Ht c) 150 |t d) 200

44. Hot whether patrolling is to be introduced in LWR territory
a) When the rail temperature goes beyond tm + 10

b) When the rail temperature goes beyond td + 10

c) When the rail temperature goes beyond td +20

d) When the air temperatures goes beyond tm + 20

TH LWR &3 H A E &I o1 §

a) ST§ X dTAHT tm+10 I 3 STl §

b) ST§ Y& ATYHM td+10 & 3 STl §

¢) S8 X ATIH td+20 § 31 ST §

d) S8 9T IT9HM tm+20 I 3T STl 8

45. On the basis of temperature how many zones are in Indian railway
a) 3 b) 5 C) 6 d) 4

AT & YR TR YR Yad J fd= o g2

a) 3 b) 5 )6 d) 4




46. Maximum distance covered in a day by a Patrolman should not normally
exceed

a) 20 km b) 5 km c) 10 km d) 2 km

T VeI gRT U o & qu &Y 1 Sifiehad gt I &0 § 3ifdies 7t g1
Sl

a) 20 foeit b) 5 fabHt c) 10 bt d) 2 et

47. The bank side slope should be for good formation soil.
a) 2:1 b) 1:2 c) 1:1 d) 1:5
3B W1 arett gt & o foR &1 g RaikliEYy
a) 2:1 b) 1:2 c) 1:1 d) 1:5
48. _  joints are not lubricated.
a) Insulated b) combination c¢) botha &b d) none of the above
Sirel H fadrs el gid|

a) 3FAIS b) TS Q)adRbaEHl  d) IWigd H Y PIg gl

49. Who will prepare patrol charts for the sections where monsoon patrolling is
required to be done.

a) PWI b) Divisional Engineer ¢) ADEN d) Chief Engineer
YA B! TR B ald TS Y- o ol IF 1A I1E daR BT |

afiesdsms  b) fSRma goifeR W& d) 9w SolifeR

50. The curve is measured with versine to an accuracy of ___mm

a) 2 b) 1 c)5 d) 7
CEACARRIRES) ﬁtﬂﬁacmodlddorrrcnwldl%
a) 2 b) 1 Q)5 d) 7

51. Rollers shall be placed at every __ sleepers during distressing.

a) 25 b) 15 ¢) 50 d) 30
SRR & TRHE TdH _ TR R AT I ST
a) 25 b) 15 ¢) 50 d) 30

52. How many green flags are with Patrolman during Hot weather patrolling.



a) 0 b) 03 0) 01 d) 02
TH 999 H 7= & SR Ueiaa & 91y fhdq s SIS 8ld &
a)0 b) 03 <) 01 d) 02

53. Number of fish bolts per fish plate is

a)2 C)5 d)7
uﬁrﬁmlﬁ‘c’ﬁma‘lﬁﬁm%

a)2 b)4 C)5 d)7

54. The limiting vaIue of cant excess for Broad Gauge is

a) 55 mm b) 65 mm c) 75 mm d) 100 mm
S8 T & forg de &n@wm@m{w%

a)55 foHl b) 65 farH c)75 o d)100 foHt
55. One degree of curve is equivalent to

a)1600/R b)1700/R c)1750/R d)1850/R
ah B T (YT fhdor SRR il ©

a)1600/R b)1700/R c)1750/R d)1850/R

56. After emergency repairs to fracture in LWR Track, the first train has to pass at

a speed of

a) Stop Dead & 10 kmph b) Stop Dead & 20 kmph

c) 20 kmph d) 30 kmph

LWR ¢ H ThaaR B! SMUTddTdH ARAd & §1G, Ugdl ¢ &I
a)¥1d 88 & 10kmph b) €U S8 & 20kmph

c) 20kmph d) 30kmph

57. Clearance between Guard rail and Running rail on bridges in case of BG track
a) 250 + 50 mm b)) 200 + 25 mm c¢) 150 + 25 mm d) 25 + 25 mm
i 2o & HA & TS Y1 3R I X b e B e

2)250 +50 foHl  b) 200 +25 fre c) 150 +25 foeft d) 25 +25 ot

58. Overhauling of track is essential because it improves:
a) Longitudinal resistance of track b) Load bearing capacity
) Drainage d) Lateral resistance of track

o BT RGN ATTLS ¢ P 3T FUR Bl &



a) ¢ & e ufaRiy b) YR dg- &Yl

o) oIt Tt d) < &1 urs ufeRiY

59. The permitted gradient in LWR track is

a) 1in 50 b)1 in 100 c¢)1in20 d) 1in 40
LWR <& H 3fAd Gl §

a) 50 1 1 b) 100 F 1 0)20H 1 d)40 % 1

60. Works which are completed by sunset of the day of commencement are called
the work of ...... duration.

a) Short  b) Long ¢) Immediate d) None of the above
maﬁwéﬁ$ﬁ={$q\q|m a® [ s‘rwucn g, 39 ... Al HT B BT ol §
a) WE bRl ¢) dobId ) SWIdd § H DI a1

61. IMR shall be marked with

a) One red cross b) Two red cross
¢) Three red cross d) Four red cross
IMR & I X U fafgd fobar Sima

a) Th A1d I b) & 1A B
¢) A &Te h1| d) IR e hig

62. Flag man will take stand from the last detonator not less than

a)30 m b) 45 m ¢) 50 m d) 15 m
Tl 74 3 Uere ¥ &1 9 &H fdha g TS g1 a1y
a)30 H. b) 45 HT. ¢) 50 H. d) 15 H.

63. The Standard Form (SF) used for minor penalty charge sheet is
a)SF5 b) SF 1 c) SF11 d) SF3

TY <8 3RIY UF & N AFe YU (TUU) &1 YT fohdm STl §
a) Y{UW 5 b) YT 1 ) TP 11 d) TiTW3

64. Minimum Ballast Cushion at TSR / CTR....
a) 300 mm b) 250 mm c) 350 mm d) 200 mm

SRR R A [gt H2H...



a) 300 THH b) 250 faT ¢) 350 T d) 200 fo

65. What is the height of 52 kg rail section?

a) 180 mm b) 172 mm c) 156 mm d) 165 mm
52 fH QR a0 WS 1 SdTs fha-! 87

a)180 fort b) 172 o c) 156 o d) 165 far

66. Full form of TTR

a) Through turnout renewal b) Total Turnout renewal
c) Timely Turnout renewal d) none of the above
AH 3R BT R FY He?
a) Y cHe3e Rgad b) Tled TH3MIT Rg3rd
o) IHT U eHanmse Rgard d) 3T A B e
67. Engineering indicators are used for work of _____ duration.
a) long b) short c) botha &b d) none
SOl Yapa! o1 ST 3@t & & & forg fpan SIran &1
a) TaT b) BleT )a3RbaH d) s ol
68. Minimum head width of a 60kg rail section for AT welding of rail joints is _
mm
a) 72 b) 69 C) 66 d) 70
I Shie! B Uet afea & Al 60 fraim ¥ a-H &1 g9 8 diek _ i §
a) 72 b) 69 C) 66 d) 70

69. Frequency of refresher course for key man is once in

a) 2 years b) 6 years c) 8 years d) 5 years
HIH & forg ggal/RIRR Ureashd &1 safe 8
a) 2 Y b) 6 AW c) 8 ay d) 59y

70. What is the width of Wide Base Sleeper?

a) 220 mm b) 350 mm c) 250 mm d) 280 mm
IS 99 TR B Arsls fbd-t gldl 82



a) 220 foet b) 350 fHT c) 250 foT d) 280 foT

71. Circular curve is situated at ------------- of curve.

a) Both ends b) At Centre c) Anywhere d) After tangent point
CRIEARYASE IUREC I I R — R a8l

a)a:ﬁ@ﬁ b)%ﬁ c)ﬁﬂ-ﬁ d)@?ﬁ@ﬁ@%aﬁ

72. Frequency of Track Recording Routes with existing speeds above 130 kmph

are?

a) Once in 1T months b) Once in 2 months

¢) Once in 3 months d) Once in 6 months

130 foret Tf € T 31 &1 Hisler I ardl ¢ RISt AN &1 SA1g ol 87
a) 1784 ¥ Th aR b) 2 HEH H U §R

) 3HEH H Uh aR d) 6 HEIH H Th aR

73. The accident due to collision falls under which category

a)B b) A c)D d) C

cadhe J g areit g foy 9o 7 St g2

a) B b) A cD d) C

74. Who is the competent authority to make rule on RS (D&A) Rules?
a) President of India

b) Ministry of Railways

c) Member (Staff)

d) Secretary Rly.Bd.

IRTY (S e U) el R Fgm 591 & forw gem wiftieRl ®iF 872

75. Name the paint used in A.T. Welding painting
a) Black Paint b) Bituminous black
c) Any type of black paint  d) None of the above



A.T ST H SUTNT §H dTel UT 1 714 SISy
a) % Ue b)ﬁgﬁmﬂﬁ
) X Uc Sl BT pis Wt UPR d) IWad 7 A Hls gl

76. Risers are broken at

a) cold b) Hot c) Any time d) Not broken
J0S USoR &l H arsl SIdl §

a) 331 b) TH o fpdt g d) ger e
77. IMR (Weld) shall be marked with

a) One red cross b) Two red cross

¢) Three red cross d) Four red cross

IMR 98 & IrYa U fafed foar smem

a) T 1 1Y b) &I AT I

o) 49 a1 I d) IR oI B9

78. CWR is abbreviated for

a) Complete weld rail b) Continuous welded rail
¢) Current welded rail d) None of the above
CWR & forg e §
a) JUI des Xd b) FRR a8 @
¢) IaH des S 3d d) SWRiad H Y DIg gl
79. Height of Platform from rail level for high level platform is------ mm.
a) 760 to 840 mm b) 455mm c) 1065 mm d) None of the above

WWW%W%MQ@(L@CWHﬁww% ------ foreft g1
a) 760 T 840 ot b) 455 fore c) 1065 Bt d) IWIad & J PIs 6!

80. Destressing in LWR/CWR s required to avoid.
a) Buckling b) Fracture
) Buckling & Fracture both d) None of above

TAS&g 3R/ ATe&y3R H dHaqfad I ST TaxaF 5 |
a) IHICIT b) PR
o) IHAT AR BRER Gl d) SWIGd | J DI T8l

81. How many days of LAP in a year, can be credited to an employee?
a) 30 days b) 10 days c) 20 days d) 12 days



U HHIR! B T aY H foraq fo=t ot vawd S 61 51 bt 82
a)30fad  b)y1ofea 0) 20 faA d) 12 faq

82. LAP shall be credited to a Railway servant at the rate of
a) 2 ¥2 days per month b) 3 days per month
c) 2 days per month d)1 %2 days per month

TATU Bt a3 A YA HHAR! I STAT fobar S
a) Ufd A18 @78 &1 b) Ufct |8 3 T
o ufa\rg 2 & d) ufa A8 S¢ i

83. Within which period Paternity Leave can be granted?
a) Six months b) Three months ¢) Four months d) 15days

WW%W%&WM g fordT ST Tl 672
a)BEHAEH  b) A HEH c) IR HeH d) 15 f&=T

84. What does P.T.O stand for?

a) Produce to Order b) Privilege Ticket Order
¢) Pre Trial Order d) Please Turn Over
T1.E1.30. &1 o1 s 62

a)3f1ax B & [T AR Y b) TUfders fewe sifer

¢) T T 3ifex d) HIAT Uele

85. What is the meaning of a set pass?

a) Travel from One Side b) Travel from both sides
c) Both d) None of these

I U &1 T HAAS 87

a) T IRE I I b) GHFI R I AT

c) Ml d) $7H § BIg el

86. What is the full form of TMS in Indian Railway?
a) Transportation management system b) Treasury management system
c) Track management system d) Time management system

YR ¥ad H TITHTY &1 YUl U &1 g2
a) UNag UaY= yoret b) WS U&e JuTTcl



¢) ¢ Y& YuITei! d) THT UEe YoTe

87. Oiling and greasing of fish plated joint should be done.........
a) once in a year b) once in 2 years

c) once in 6 months d) once in 3 months

fOhR WICE OIS I HITfCHT Td WG B =1fg.....

a) Ui § T aR b) 2 9T § T &R

) 6 HgIH H TP R d) 3 Ao H T &R

88. Frequency of Periodic Medical Examination (PME) for Gang Mates after 45 age
are?

a) Every 5 years b) Every 4 years c) Every 3 years d) Every 1 year

45 g8 BT 3T & TG 177 HeH & oy Smafdes fafean sia (dieds) &t sy a1 |2
a) R5UAH  b)sR4AMH ¢) B 3 9T H d) B3 1 91T

89. What is the Frequency of OMS recording on Broad Gauge track above 100

kmph?

a) once in a months b) once in 2 months

c) once in 3 months d) once in 6 months

100 et Ufd € 1 31t SIS TIST ¢ TR SNUHTYH RIS I SgRI o 82
a) Ao | U&h IR b) 2 HEM H Th IR

¢) 3 HeH H Ud SR d) 6 TEH H Us aR

90. IR Designation of a curve is done by

a) Degree b) Radius c) Degree or Radius  d) Curvature
for<ft ash T IR UeAH fordds gIRT fosa ST 82

a) f&ait b) Ban o) f&3t a1 B d) Iehd

91. Which machine is used for renewal of turn out?

a) T-20 b) T-22 c) T-28 d) PQRS

o 3113 & TdHIHu & fore forg w=ita &1 IuanT fhar Sirar 82

a) ¢1-20 b) ¢1-22 c) ¢1-28 d) UIRI3IRTH




92. The minimum width of Cess in formation is ?

a) 600mm b) 900mm ¢) 500mm d) 1000mm
T8 H IUHR B! YAdH IISTS 82

a) 600 fot b) 900 fare c) 500 fot d) 1000 fore

93. Track Geometry to be achieved after track maintenance should be better than

a) New Track Tolerance b) Maintenance Tolerance

¢) Service Tolerance d) Normal tolerance

¢ IWIWTd & §1G YT &1 S dTell ¢ AT 9gax g alfeu-
a) T8 <& gARNad b) TR FGIRITeAdl

¢) 9T Gg-Riterdn d) =T el

94. Radius of a 2° curve is-

a) 1750  b) 875 c) 350 d) 550
2° Ioh DI AT §-

a)1750 b) 875 c) 350 d) 550

95. Tapered movable rail, connected at its thickest end to running rail is termed as
a) Stock rail b) Tongue rail c) Lead d) Sleeper

I aTelt XA U 39D T Al R IR IS g8 Udalt 9 ¥ DI Bl ol &
a)WiHIA b)T™@  oTs d) WK

96. What is the full form of TRC?
(a) Track recording car b) Track researching car c) Train recording car d) Train
researching car

SR BT gUl U 7 §?
a) ¢ RPNSTHR b)) ¢h RIA PR ¢) SARBISTHR  d) o NI &R

97. The accident due to fire under which category



a) B b) A ¢) D d)C
3T T q B aTelt gHe forg 3ot § 317t 82
a) B b) A ¢) D d)C

98. Gap survey of a SWR has to be done -

a) Just before the monsoon

b) Just after the monsoon

c) Before the onset of the summer season in Feb /March
d) During summer

TUS&YSHR &1 71T Td BT 8T -

a) YA 9 31d Ugd

b) A & Bl §lg

o) HRaXl/Ard ® T & A 3t XS ¥ Ugd

d) 7T & ERM

99. What is full form of PQRS in Indian Railway?
a) Plasser Quick Relaying System

b) Portal for Quick Relaying System

c) Physician Quality Reporting System

d) Point Quick Relaying System

YR YAd H PQRS &1 Y01 &0 &1 87
a) WRR & Rasn Red

b) fe s Rern & faw uida

c) iR wiferdt Yo Rieq

d) @rse fo®e RasT Riew

100. What is full form of UTV in Indian Railway?
a) Uniform Track Vehicle



b) Utility Track Vehicle

c) Utility Train Vehicle

d) United Track Vehicle

YR YAd H UTV ST J01 &0 &1 87
a) ZFAWIH ¢ aTe

b) gfeferdt ¢ab argH

) gfeferct ¢ are

d) gATECS ¢ aTgA

101. How many Hindi courses are prescribed for Central Govt. employees?

a)3 b) 2 o)1 d)5
bg PR b HHARY! & o fbam fES urauspa feifad &2
a)3 b) 2 ) 1 d) 5

102. In which part of the Constitution are the Articles 343-351, that gave
information about Official Language available?

a) Part Il b) Part X c) Part XV d) Part XVII
gy & ford YT H 31gwdq 343-351 B, fSH ISTUT & aR H SIHSRT Suas
PS 67

a) HIIT I b) HIT X c) HIT XV d) HIT XVII

103. When was the Official Language Rules made?

2)1963 b) 1967 c) 1976 d) 1987
ISTHYT 09 e a9
2)1963 b) 1967 c) 1976 d) 1987

104. What is the Official Language of the Union of India?

a) Hindi in Devnagari Script b) Hindi in Nandinagari Script
¢) Maithili in Devnagari Script d) Sanskrit in Devnagari Script
YR TG DT ASTHT &7 87

a) TaTRY farfy & b) =Y forfy & fgh

o) Tfelt oAt fafa d) ¥ d ¢RI farft o




105. According to the Constitution of India, the official language of the Union is
Hindi and script is

a) Roman b) Kharoshthi c) Devanagari  d) Brahmi
YRd & AU P SIHR T4 Bt IorHI fEdt qur fafi g......
a) I b) TRIS ¢) SRR d) Sl

106. The official language of the Union is related to which part of the
Constitution?

a) Part XVII b) Part XII c) Part XV d) Part XVI
Y 1 ASTHTYT T Iy Tfde & fog I ©
a) HIT XVII b) HTTT XII ¢) HTTT XV d) HIT XV

107. When Hindi Day is celebrated every year
a) 12 September b) 14 September c) 12 January d) 10 January

R 1 Bl feag e v Sar 8
a) 12 RIdeR b) 14 RIdeR ¢) 12 SHa d) 10 SHa™Y

108. How many members are there in the Parliamentary Official Language
Committee?

a) 40 members b) 30 members ¢) 50 members d) 60 members

T orHTST iR # fha e 82

a) 40 YaJ b) 30 Ha¥J c) 50 da¥ d) 60 Ha¥g

109. How many languages included in the 8th schedule of the Constitution

a) 15 b) 18 0) 22 d) 24
Sifaem @1 8 of St H fha-T WIS =midd €
a) 15 b) 18 0) 22 d) 24

110. Which of the following language is not included in the 8th schedule of the
Constitution?



a) Bengali b) Urdu c) Bhojpuri d) Marathi
gy ot 8 I S § fFafaRed & @ o 3 v wnfia 8t 82
S ERIKl b) 3¢ ¢) HIoTgRY d) IR1&



